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o Comments:

o what does Australian trade look like?
o what if we make this “a tale of three countries”?
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Source: Australian Government, Department of Foreign Affairs and Trade
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Introduction Model Conclusion
Australia and US

Source: Australian Government, Department of Foreign Affairs and Trade
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o Australia is net exporter of commodities

o Imports final goods and services from

o US (primarily)
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o (notincluding China...)
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o Australia is net exporter of commodities

o Imports final goods and services from

o US (primarily)
o Japan
o (notincluding China...)

@ What happens if we extend the baseline model to include the US?

6/12




Export commodity

A

Export Final Good

7/12




Introduction

Trade Data

The Model

Export commodity

A

Consumes:

Coen = Yien = Xopn

Export Final Good

Consumes:

Caus = Xien (1-topn-t1,en Xipn)

Conclusion

7/12



Introduction Trade Data Conclusion
The Model

Consumes:

Cus = Yo - Xus Export Final Good

Export commodity

‘ )
Export Final Good
Consumes: Consumes:
Cien = Yien = Xien Caus = Xopn (1-toen-t1,ipn Xipn)
+ Xus (1-to,us-t1,us Xus)

7/12



Conclusion

Trade Data

The Model

Introduction

/! —
4 —
/' 4
s 7 Consumes:
S s
Vi
/ Ve
/s ,/ Cus = Yus - Xus Export Final Good
./
/
2
l/ '/
/ ,'
/l /
I, //
S ¥ Export commodity
<€
Export Final Good
Consumes: Consumes:

Coen = Yien = Xopn Caus = Xien (1-topn-t1,en Xipn)
+ Xus (1-to,us-t1,us Xus)

7/12




Choose {Xpn} and { Xys} to maximize

Chsks ,,  Cieme ,  Clsl
Eo[ZBt< PN1_’ +Aus )]

Y 11—y
where
Cavst = Xupn,t(1—Toupn — T1.upnXupN,t) +
Xus,t (1 —To,us — T1,usXus,t)
Copnt = Yupne— Xupnt
Cusit = VYusit— Xusi

8/12
A



o Four equally likely states

9/12




o Four equally likely states

@ Two countries

State 1 State 2 State 3 State 4
Y, pn Yhi Yio YHI_‘*Z'YLQ +2¢ YHi-g Yio o

9/12




o Four equally likely states

@ Two countries

State 1 State 2 State 3 State 4

Yhi+ Y Yui+Y
YJPN YHi YLo H,-2- Lo +2¢ Hl‘g Lo _2¢

@ Three countries

Yipn Yhi/2+¢€ Yio/2—¢ Yhi/2+¢ Yio/2—¢
Yus YH,'/2—8 YL0/2+8 YL0/2+£ YH,'/2—8

9/12




o Four equally likely states

@ Two countries

State 1 State 2 State 3 State 4

Yen Yii Yio YHHZ‘YLO +2¢ YHi‘g Yio 2¢

@ Three countries

Yipn Yhi/2+¢€ Yio/2—¢ Yhi/2+¢ Yio/2—¢
Yus YH,'/Q—S YL0/2+8 YL0/2+£ YH,'/2—8

— For each state, the total world output is unchanged.

9/12




o Four equally likely states

@ Two countries

State 1 State 2 State 3 State 4

Yen Yii Yio YHi-gYLo +2¢ YHi'; Yio 2¢

@ Three countries

Yipn Yhi/2+¢€ Yio/2—¢ Yhi/2+¢ Yio/2—¢
Yus YH,'/Z—S YL0/2+8 YL0/2+£ YH,'/2—8

— For each state, the total world output is unchanged.
— Same mean, but Japan has more volatility.

9/12




Introduction Trade Data Conclusion
Calibration

Four equally likely states

Two countries

State 1 State 2 State 3 State 4

Yen Yii Yio YHHz-YLa +2¢ YH/"gYLo _o¢

o Three countries

Yipn YH,'/2+8 YL0/278 YH,'/2+€ YLO/Q*S
Yus YH,'/Z—S YL0/2+£ YLO/2+€ YH,'/2—£

—> For each state, the total world output is unchanged.
— Same mean, but Japan has more volatility.

For simplicity, To ypnv = To,us = 0.

9/12




Introduction Trade Data Conclusion
Calibration

Four equally likely states

Two countries

State 1 State 2 State 3 State 4

Yen Yii Yio YHHz-YLa +2¢ YH/"gYLo _o¢

o Three countries

Yipn YH,'/2+8 YL0/278 YH,'/2+€ YL0/2*£
Yus YH,'/Z—S YL0/2+£ YLO/2+€ YH,'/2—£

—> For each state, the total world output is unchanged.
— Same mean, but Japan has more volatility.

For simplicity, To ypnv = To,us = 0.

o Show results for increasing values of T4 yon = T1,us-
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@ Returns from carry-trade are robust to introducing a third country

@ Double sorting on commaodity exports and number of trading partners?

o Extensions:

heterogenous shipping capacity
relative country size
heterogenous bilateral trade agreements
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@ There is a lot more in the paper

o include disaster risk
o a very well executed empirical analysis
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@ There is a lot more in the paper

o include disaster risk
o a very well executed empirical analysis

o A great paper:

o A fresh look at the returns from carry trade
o Bridge the gap between int'l trade and int’l finance literatures
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